PIYE ANDHE (BRSQ) EBFSNIEHD K&
B T (=Bt
@ lﬁﬁﬁ? P18~25 B2 )

P 18

2

afsd, 3ThhGdlhalzn
5, e @i’}(:, TELIZFASCEES S
DT Tk Ry
(1118=2x3" 750 iy, 2?75 5
(2:3 2= =(2x3)? —(:Z

U s
FI
24
o
e
«
oF
P

(2156 =2" X7 7y, 2XT—1d &2t h L,
(25X T (21T =2 X 7= (2" X 7 ) =28
(BIB0=2" x5 x5 235, 5Chik,

(FHRFHF) 5 =2XF = (2x3)" ¢

5 HIEIHE

TNBE < Dl

6~8 MPEEH, M xOREELEB2OOHR
LEET,

ra21

DR D LB, 2 B E 2 OFEE
BERSAE T

( 9 /
13 +dl+%”l’ +2X Xx*(“é (




15 L(2r+1) (20 —1)
ol BHTmE6) (T —6)
(24 Jl)(_ ‘§L)

(2)(82+5) (Bz—5)
A4 (O+2) 92— ‘»)
'5\(1 4(1}(1 -da)

W2 TuhB

DX G BRI O 0Bz

)

1719 L EE <O IRL, S5iZhs Zah s
l_litf( T A

19 000 4a’h—16ab" —4ab (> —4b%)

=dab{ad*—(20)°} —4ab(a+2b) (a—2h)

P24

2 (Uixty-1) (ety—4)

L @arb—3) et 1)

4] (a-+3b-+ 41 c/-i-._»b 8)

'ai(r I;Jrv) (:5 y=5) (B} {g- +2£;—()(f/+c)
: SKx 7)fr+4> Fins

2Ha=bi 1)

TDITFET, T3l
P, XiIBEDZD.
20 Blrla—b)—a+b=xla—0 —la—b)
==X B EALD.
Wlec—bo-td b u) —cta—br—dlu—5)
a—h=XNLEBEhah.

[Tty

i R PR LT

r—y=xlrty) - lety)
cty=X EBENRDL
(8labh-t 2b— J(z—b—hm-i-)) ~3ak2)
/s 2,,,,)&’kﬂ§75 1 4
21 6la+b=X, b—c=Y 3k,

X V= X+V)(X Y
=ila=b)+b—ch Watbl—(b—c))
=(at2b—c)(atc)

22 Lt X EBOE,

X'3+7.X+ 2= (X423 (X+41)

=" e+ L ----4; \ 1)
= (x+1) (.1"|‘ 3) (et

2irf—6=X & B %f.}‘ﬂ_/@o
Bl A=X L BENPZ D,
ir+y=A, y—z=B B &,

A 240+ B'=(A—B)
=z-yl- g 2i'=

(Bi{x— 1!/)2—52 EERTL,
BHA)  —(y—22)" 2 BBT 5
(THa 1 3b) —4{a+3b) —4 L% ﬂ/ﬂ .
(8w ) —5la—b) 14 E&EBET e

(ol z)*

P25
(5 v 7R




8

(23{er20)°
"1 (uHO)(a la

(Wr+1) tr+2)
3 "‘42) (3r 2)

ARSI ARSI

B, e DL, Té:

3Thh kol
71 %/J\‘Sk\?i}m‘

(330144 — 2‘*/'”7(95@37
21225 =5 X7 =(5XT)"

13360=2"%<3" x5 720,

(27 37X B) % (25)

=2 KR
=(2723%5)"=60°

ol E L < < D IRT

[KHEL R e

A latbirtab— (x+a) (x+b),

P+ 2ar—

2X5 10 AT L &,

a=(r—a)’,

2

r=2ar—a‘= (xr—a)’,

=a - eta) (r—a) B,

(L~ bl E DL, 25020
W T S,

13 20018« «

=—'+8u' + 2a
—alad” 8a 200
=—ala+2){a—10)
MREBERLCr—y=X LBE»I2 5.
oy ay

(= — (@) = ry) (e—y) — (2—w)
={24 P X—X=X{{x+y) —1)
={a—y) (xiy—1)
«ZS?SI—U;X LBEDZLD
- 8=X tBEHRZD
wlO‘I\ ERLCau—4b=X L BE»2 5.

@' —8ab+166"4 3a-—-126—40
= {a"—8ab+168") -+ (3a~—12b) —40
“A{a—1b)2+3(a—4h) — 40
=X 3X—40=(X—5) (X+8)
= {a—4b-5) {a—46--8)

{3 ‘tﬂ):ﬁrﬁa)ﬂ P26~31

HNEBENLTHoBERAT L.
FREFNONE, KOL IS,

i 9ab 2}y (312" +ry 4120ah
HAERO L IZINEGR L Th AR RAT L.
{ix - (e —2i) ‘1*-11//

) m—4n)

bxy—8y'=

2w mn— 1200 = Gm -+ 3n

B340 12y W = Qe t3y)°

HRA RO LD ICREGRE, T ELELTRS

AT 5.

g —b"={a+b) (a—b)

2l =t 2mn 0 — 2mn
—(m+n)

Bl tayty =2+ 2xy+y—xy=(x +

) r—yr =’ —2xy+y’ x4 2xy |y

O

J) — Xy
=4y

—(r—y) —dxy

14 ﬁ»\f'{k@i IERLTrLAREMHT 5,

(13304237 (20{100+30% {(31(50—1)7
(41(100—5)* (3)(8—0.3)% {61(20—0.2)"
5 #HEFKOIHIERLTHLARZFIMTS
(00201 % (20010 (2)(80+2) % (80 ~2)
40— 1) X (40--1) (43505 < (50--5)

(BI100+2) < (100—2)  (6}{(3—0.1) X (3+0.1)

6 (1) 51x53= (504 1) % (50+3) =507+ 4503
=2500+200+3=2703
(20 68 71=(70—2) % (70+1) =70"~1x -2
=4900—70—2=4828
(31 48><4 9=(5—0.2) x (5-0.1)
=5 0.3%x510.02=256--1.5-+0.02=25.52
7 WEMLT2EDHERTNT 5.



(1} 96°+96 8- 4°

=06+ 274} Y96 +4°

=(96—=43° 100" - 10004
27 97°—4x97—21

=7 (3 T) } 78 (—T)

= (97+3) X {97 —7) = 100 X 90 =9000
3y 294 4%

=4 (295 — 4]

=4 (2044 x (99—4) =4 X 33 25=23300
(41 8958« §9+29°

R0 2% 26 % 89 297

=(89 29)°=60°=23600
(51 92°—6x92 16

=02 (—248) K92 |- (—2) %8

=(92—2) X (92+8) =90 < 1009000
(6) 81 (8Rx2+12) x 12

=R/§" 212X 88+ 127

= (88412)"=100"=10000

911 #HEY L 1o LT & M0 THL,
WAL VB, 2 BRI 1 LAl T
KT
10 (12 5O 2m b1, e+l & E£T.
(203 Tholk s, HYH1E2LEMET S
2OORERE Intl, 3nt2 L8
BIEET A 3 DOBEE -1, n, A+l EE,
45 TholbE 2oy ns E3l4d 20
BE Sm+2, burd LET,
1 3wt 2n=nlnt+D) (x4+20 LD, HEHd 5
3o BHREO IR, 2 OREHE 3 DA
Hbe
(3R B 2 0% 21, Zntl b3y,



